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TvE-1
SECTION-I

vitfres fareer vd oA g
PHYSICS AND CHEMISTRY
oY ; 3E0e HAftrrag 3% : 400 Time : 3 Hours Max. Marks : 400

1. v 32 fomsm smew 20 #@0ft ~ 10 @t < 1.
5 ®ift & %1 W 4 kef 8 | 98 Afteam

M@ HAE W T WA THE WEE W
T A

(A) @@ areft Trge (20 Aft) SwEhn
wdl 9 |

(B) B arell mge (5 @) swhn
ecife ol

(C) wem aret @mgs (10 &) s="
Tl 9 |

(D) w0 8 % T

2. waa &t fia (qfar) dan #@ A wa 2.
STt #

(A) Foms Ya= g0 yoae 9 984 9
A FH A |

(B) ErEm g o a8

(C) Ean 2@ 4 e (gt) & |

(D) T & &ré T

3. e vl smfa fod g v € 3.
(A) 1Hz

(B) 1000 Hz
(C) 200 kHz
(D) 5MHz

A brick of weight 4 kgf having
dimensions 20 em x 10 em % 5 em
exerts maximum pressure on surface
when it 15 placed on ground with its

{A) longest side (20 cmjl vertical
(B) shortest side (5 cm) vertical
(C) medium side (10 ¢m) vertical

(D) None of these

The foundation of buildings are made
wider than the wall

{A) so that the pressure exerted by the

building on the ground becomes
less.

(B) so that constructing the wall is
casy.

{C) so that the walls look beautiful.

(D) None of these

A man can hear the sound of
frequency.

(A) | Hz

(B) 1000 Hz

(C) 200 kHz

(D) 5 MHz
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4. guas g o = vl s g 4,  The Image tormed b;'g.-' a plane mirror is
(A) i 3R ot (A) Erect and diminished
(B) i sEg (B) Erect and enlarged
(C) I I FHIA AR {C) Inverted and of same size
(D) i 3l FHH FTEH H1 | (D) Ercet and of same size
5. @ aae odw 1 fF 9 60° & i 5.  Two plane mirrors are placed making
. SR an angle of 60° in between them. For
Bl & W E % v T@ i an object placed in  betweén the
g % w et sl 1 s 2t mirrors, the number of images formed
(A) 3 will be
{Cy 6 (D) A {A) 3 (B 3
{C) 6 (D) Infinite
6. U ArEAfa UH AR A 729wt w5 6. A real and enlarged image can be
wre foban =1 Tk obtained by using
(A} Ieel edw & {A) convex mirror
(B) Hmﬁﬂﬁ : (B) plane mirror
|{'L"] e =i o | (") concave mirror
(1y) Iie1 U4 EHaH 290 8 (D)} convex and planc mirtor
7. | finft Wl 2@ %1 OnERe (Pascal) § 7. Convert 1 mm Hpg pressure in Pascal.
HH B (AT o e (Density of Hp = 13.6 = 10* kg'm” &
g o ot
13.6 % 10} kyym W& g = 9.8 ) g=9.8m/s")
3 33.28Pa {(B) 133.8 Pa
A) 13328Pa| (B) 1338Pa (A) 1
|EE‘} 133.12 Pa l (D) 1;1,1.13 Pa (C) 133.12Pa (D) 132.98 Pa
8. ETIQWIE{ &1 W e g § e 8. A hydrometer is used to measure the
T # 3 following quantity of liquid
B . (A) Density
(A) BT (B) ¥mE (B} Volume
: {C) Relative density
(C) wmfas a7 (D) &@ 151 Prassin
9. fﬁﬁqﬁ yaifier & Wil W owe W 9,  On Fahrenheit scale, the boiling point
T B - of water is
(A} 100 °F (B) 98.7°F (A) 100°F (B) 98.7°F
(C)y 212°F (D) 220°F (C) 212°F (D) 220°F
Group-A &= %1 % T2 378 / Space For Rough Work
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1.

12.

13.

U T HEET FY I AT 125 Wi
Ak AR F9E YR FWE W S 8, %

ST AT B, A T e o
(A) 25WiH (B) s0HE
(C) ¥ (D) FHARE A

UF IqFW % FHE BhA 0 25 9
(feeftam) ¥ aren 78 g whet o 244 W
&1 wfia § amen 8 | 5@ whe % 1 Wi H
20 FOEC Yt § =i T d | U
maqiaﬁ(mm}% )

(A} 0.002%d| (B) 0.05%d
(C) 0.001 &t . (D) 0.02 8

us g Sefied & 9@ =ha 4 10
o # 3t ey w1 B 10 s A
w21 2, § o g o i e
= 1.8 d@dt & A amt } wn T
st WM e Bhe e R g H
T 1 HE 2

(Ay 1.804@ft  (B) 1.840%0
(C) 1.800%d1 (D) wAdE g E
Hvz Yugem i T 39 WE WA

Tty R (g) 9.8 WA
(A) 0.497 . (B} 0.597 .
[(C) 0.997 .

(D) 0.994 1,

10,

1.

12.

13.

A body rises vertically up to a height of 125 m
and comes back at the point of projection in
3 % The average speed of body was

(A} 25 m's (Bl 50 m/'s

(C) Zero (D) Mone of these

In an instrument, there are 25 divisions on
the Vemier-scale which coincide with 24
division of the main scale. 1 ¢m on main
scale is divided in 20 equal parts, The

least count of the mstrument 1%

(A 0002 cm (B} 00L.0¥ cm

(C) 0.001 em {D} (.02 em

In. a Vemnier callipers, there are 10
divisions on the Vernier-Scale and
I em on the main scale is divided in 10
parts. While measuring a length the
zero of the vemier lies just ahead of
1.8 em mark and 4™ division of vernier
coincides with a main scale division.
The value of length 15

(A) L3804 om (B) 1.840 cm
(C) 1.300 cm (I None of these

The length of second’s pendulum at a
place where gravitational acceleration
() is 9.8 mis”.
(A) 0497 m (B) 0.597 m

(C) 0,997 m (D) 0.9%4 m

Giroup-A
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14, U temEl waw 30 1. 30 fefee s
In @ wen fomr 40 T, 7 40 Redfea =
i & v Bt fan § werh & | enE =
Ftea 4 #

(A} 35.71 Tz
(B) 35.0 Redigz
(C) 35.81 Fesftaa
(D) 35.95 feEdtam

15, fail ma faeene ve wwa ot & wEEl
o wd w1 = iR

4 W A

: -

1 I
Tj"ﬂl—'}
(A) TR A U@ %1 B 99 1, % 4R

g AT AEATE & |
[(B) sRA® ST ®RBH sa® 2 | |
(C) FEBFIATHL AT Afuw 7 |
(D) A TE R B S T T

16. EHEEH T &% o
(A) Frenm-wmg oE § 9E-A
AHHTR U HiE
(B) SrE-8Ta U6 1 5EE-3E | g
75 o i

(C) SE-8F U H -

TR U '
(D} TO-EEE O B SmE-we %
: TR U ikt T

14F

5.

16,

A train [irst travels for 30 min with a
velocity 30 km/h and then for 40 min
with a velocity of 40 km/h in the same
direction. The average velocity of train
is

(A} 35.71 km/hr

(BY 35.0 km/hr

(C) 35.81 k'l

{D) 3595 kivvhr

Find out the corrcet statement with the
help of given time-displacement graph :
CAR A

CARB

Dizplacement =

I
|

TR

Time —*

(A) aller time ty, Car A & Car B move
with equal velocity.

(B) The velocity of Car A is more
than Car B3, :

(C) The velocity of Car B is more than
Car A.

(D) The Car A & Car B are moving
with same velocity,

For unilorm motion :

{A) the distance-time graph 15 a
straight line parallel to time axis.

(B) the speed-time graph is a straight
line inclined to time axis.

(C) the speed-time graph is a straight
line parallel to time axis.

(D) the acceleration-time graph is a
stepight line parallel to time axis.

Croup-A
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17. QE:!ET-IHEH?[#[EI"E‘QH qf-'lzﬂ 17. 1.0 Newton force 'is equivalent to in a
(A} 1.0 § =y et o= C.o5, syslem
(A} 1.0 kg-m/s®
i I.U_ET!-‘-I (B) 1.0 Dyne
(C) 107 =1 | (C) 10° Dyne
(D 1.0 wm-edtEl (D) 1.0 g—em/s?
18, Twdig e o1 WS # 18.  The unit of linear momentum is
(A) N.s (B) E-:E-rn..’:-;2 (A) N.s (B) ke-mis”
{C) Nis (D) ke-mis (C) N.s! (D) kg-mis
19, Tﬁﬂﬁﬁmﬁlﬁaﬂﬂzﬁm}%ﬂ 10 N = 19, A force of 10N acts on a body of mass
A 3 0. 7 T & | e e am 2 kg for 3 s initially at rest. The
veloeity acquired by the body
7 e .
mﬁﬁ,qﬁmﬁaﬁﬁm@ﬁ{_ (A} 15 m/s (B) 20 m/s
[(A)_15ms | (5] 2Ums (C) 25 m/s (D) 30 m's
(C)y 25m/s (O 30 m/'s
20, UE ¥ UHHEH =0 H WA FwE 59 20. A body moving  with  uniform
69 A 84 ud 118 7§ 264 4. Fo acceleration travels 84 m in 6 s and
264 m n 11 s. The initial velocity of
# | = &1 Wl i 2 (he bodly is
(A} 2.0 Hi. (B) 1.9 i/, (A) 2.0m/'s (B) 1.9m/'s
(C) 2.1%d&. (D) 3.04A. (€) 2.1 mis (D) 3.0 ms
21. @ fadia wa a0 & o« vss e 3 21.  Two equal and opposite forces act.on a
crdsu ke ok ks ki moving object. Its motion will be
(A} WTfeE Bie g Bt St | {A) affected and slow-down
(B) wwIfem Bt a B W | (B) affected and speed-up
(C) warfaa gt ek et | (C) aftfected and stop
(D) arwifaE et | (D} unattected motion
22, HEH Wil TEA (FE0 i 99 ) 2 22,  The property of [nertia is most in
(A) T FRH (B) THgHH (A) acar (B) atruck
(C) whf@md (D) UFHEREREEH (C) arickshaw (D) acycle
~ Group-A

et 1l & fe7¢ ST / Space For Rough Work
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23, fei m fom 4 v =iF v g9 WO ®©
= = 5 el 7w # | 3f = w1 9w
15 N 2, 7 f&m (21) g =is 7 o
EIGIEG
LLLLELLLELEY

«—— f (31

&l
(A) ISNTRF mmEey
(B) 15 Nmﬁ&ﬁtm%mﬂ

(C) A
(D) T4 & 13 T8

24, afe gedft 1 gEwE 6 » 102 fEm
= 6.4 = 100 . 71, gt i wA
2000 ferdt S0t A =AW 1 9

(A) 5.0dE? (By 5.5d@°
(C) 5.7 @ (D) 5.9 "’

25, O gE] W TeEl © TEE W A w0 A
# forereen zegm et w10 femm 2 1 af3
qeefl W g %1 A 9.8 Hia? i == W
1.6 &2 g1, 9 S w1 TS W A
G

0
(A) %ﬁﬁm (B) 98N

(C) 16N (D) mﬁzmj

3.

24.

In Fig., a block of wcight 15 N is
hanging from a rigid support by a
string, What force i1s exerted by the
string on the block 7

— Stnny

= [Ylock

(A) 15 N downwards (as weight)
(B) 15 N upwards {as tension)
(C) Zero

(D) None of these

Taking the mass of carth equal to
6 = 10 kg and radius of carth equal to
6.4 = 10" m, calculate the value of
gravitational acceleration at a height of
2000 km above the earth surface.

(A) 5.0 m/s’ (B) 5.5 m/s®

(C) 5.7 m/s? (D} 5.9 m's®

A body of mass 10 kg on earth is taken
from earth to moon. If the value of g on
earth is 9.8 m/s’ and on moon is
1.6 m/s. The mass of the body at moon

]
10 ,
(A) 5 ke (B) 98 N

(C) 16N (D) 10 kg

Group-A w5t % foru 9m8 / Space For Rough Work
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zl.

28.

29,

30,

m%wﬁuﬁ%ﬁmﬂﬁaﬂﬁm
A (FmEfm ) w2

) e

() @ (D) I

ATe =1 3gE=E B

(A) &fFETER (B) Heishrge
(C) HHEE (D} Ezmree
Wl W EEENE aUl AT
ATEAATTHR 39T Bl #

(A) 8:1 (B) 18

C) 21 (D) 122

e 4 4 =1 &t g s an

ATHEFE AR 7
(A) CO, (B) H,$
(©) s0, (D)

T famga 0 1 amEat g 2 < 10t
ﬁﬁﬂ'ﬁlﬁ-‘lﬂﬁlﬁﬁ'ﬂqmpHi—
{log,,2 = 0.3010)

®) 7578
(C) 7.219 (D) 7.188
31, wril fre § fereredef @ms W o
&1 8
(B) e
(C) ftem (D) Aw
32, 3 T A A g v
(A) Na,CO, (B) HC!
(C) NaCl (D) CaCl,

27.

30,

.

The Bessemer converter used  for
smelting of copper containg lining of
(A) Silica (B) Lime

{Cy hon (D) Copper

The copper ore is
{A) Bauxite
(C} Camelite

(B) Malachite
(2} Cedarite

The volumetrie ratio of hydrogen and
OXYUCH In wirter 15
{A) &1

(By 1.8
(Cy 2:1 it

(D} 1

The gas which acts both as oxidizing as
well as reducing agent is
(A) CO, (B} H,S

(C) 50, (D) None of these

The concentration of H' ions in a
solution is 2 x 107® mole per litre. The'
pH of solution is — (log,, 2= 0.3010)

(A) 7.699 (B) 7.578

(C) 1.219 (Dy 7188

The colour  of  Phenolphtheline
Indicator in basic (alkaline) solution is
(A) Red (B) Yellow

{C)y Blue (D) Orange

The substance used in Fire-extinguisher
is

(A) Na,CO,
(C) NaCl

(B) HC/
(D) CaCl,

Group-A

el 1 & 670 T / Space For Rough Work
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33, whifeseRs = (UPAC 9 # 33, The IUPAC name of Formaldehyde is
(&) widfFzzrs  |(B) wd9= (A} Formaldebyde (B) Methanal
(C) A (D) AT {C) Ethanal {D) Methanol
34. uHifess ufirs o Brarms anE 2 34. The functional (reactive) group in
(A} >C=0 (R} - OH acetic acid is
{A) = C=0 (B) - OH
: OH H
€ (D) | OH H
-C=0 ~ =0 (C) | (D) !
- =0 = (=0
IS, E PiEet % | Ii_I!;’Fﬂ'—ﬁ'ﬂ'T & wifi g 35.  On dehydrogenation of aleohol we get
Hen @ the compound
{(A) 3= (B) TRA {A) Acid (B) Ester .
(C) Uleserse (D) i (C) Aldehyde (D) Amine
36, AA TeTH 1 FEUAE Gl £ 36. The boiling point of a liquid increase
F: - when there is
dIATSAT ald ; g
I'r;; = Eq—{ {A) decrease in atmospheric pressure
[ ArAvSER 3 T T (B) mecrease in atmospheric pressure
(C) e = Zo8HH 9811 T (C) increase in mass of liquid
(D) = & w8 72 (D) None of these
37. WA #HUTH | 7 9T v & AT g 37. The place of element of atomic number
3 E 17 in periodic table is
: A} VIl period, VI g
(A)_VII 31, Vil =t il g g e
- (B) 1 period, VI group
||:B]- 111 2veEd, WTE‘” (C) IV period, VII group
(C) IV Fm&Ed, VI (D) 11 period, V1 group
(D) 11w, Vit
. Tafafias o arfa 'ETI'E% . 38.  The basic metal among the following is
(A) Na (B) Be o 1L 2
(€) Al (D) Zn © (D) Zn
39, THRUERA R R 39, Alkene, among the following is
{A) CH,, (By C,H, {A) CH,, (B) C,H,
) CH, (DY C,H,, (Cy C,H, (D) C,H,,
Group-A e 1 o foT 7% / Space For Rough Work -
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40, ﬁﬁﬁ%ﬁ?mmmqﬁ%? 40, Which is not a hygroscopic substance
(A) - CuO (B) Ca0 among the following ?
(C) H,S0, (D) PhO (A} Cul) {B) CaO
o (C) H,80, () Phid
41. egfifen wmiss, o & afifen
s A ‘3' m 41. The gas released after reaction of
I aluminium carbide with water is
(A) THtiesa B) =t | {A) acetylene {B) marsh gas
(C) ufuferm (D) % & i e {C) ethylene (D)} None of these
42, Fere 6 Bramsierm = @y 2 42.  The degree of reactivity of halogens are
HA) F>Cl=Br=1| (A) F>=CI=Br>1
(B F>Br>C/>| (B) F>Br=Cl/=>1
(C) C/>Br>I1=F (C) C/>Br>1>F
(D) F>Cl=1>Br (DY F>CI>1>Br
43, T g S.T.P. TR 3 35 T awt 43. A gas is on S.T.P. Ms pressure is
# T AT A HREA 546 °K 4 W increased to double and temperature to
ArgaA 3 wfrerd d 546 "K. The volume of the gas will be
; {A) unchanged
(A) HATEHA HHME & |
(B) R 3T B S o (B) reduce to half
(C) 3T = T # S | ! S
(D) = G A (D} None of these
44. wremzee faeem § 0 I i E 44. The particle size of collowdal solution is
(A) >10"m (A) =10"m
(By 10-M m @107 m o (B} Between 10" mand 1077 m
(Cy =10 {C) <107 m
(D) = & T (D) None of these
45. 12 U™ HqH urfirm Fese faea Tt 45, 12 g of saturated solution of potassium
& 20 °C AMAE 9T # w7 aefiE 308 chloride at 20 °C, when evaporated to
s PR 79 S0 W 3 19 219 399 9Ty li']":}'|1rh;-:~]i.tr_1tx-':::if11 '"‘t“'"‘i. I'L‘Hi[:l.il-ﬂ .1111' :.ig.
e solubility of potassium chloride is
& | arefirm wes & fawmm :
r?f: .33 3™ By 2579 ! g B2
: (5) (€) 30 g (D) 28 g
(C) 307m™ (D) 2877
Gronp-A = %1 % {10 5718 / Space For Rough Work
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44.

47.

48.

191‘

50.

foms o 1 79 TewmfE = A
afifern & i Frarerd 2

(A) H, 7§ (B) O,7H
(C) CI, (D) CO,7H

HfeAid g 8

(A) FTEW +], FEEA |
(B) 3T 0, FEu |
(C) arﬁmu,ﬁmmn]
(D) 37TE9 -1, 55 |

T =61 I e 3 et g

(A) 98 FoRM gH W
iR BT R |

(B) #E FoR WiHR wa & ik
FTIEA B # |

(C) %8 T R W & 3
ST B 2 |

(D) ¥E TErEA 2 Ha & 3 e
BATS |

Tmmf wfufwn § f= F i
B R

(A) FeragA (B) WA

(C) =g (D) HEE

wEE Al 9 g

[TAY 1s—1s] (B) 2s-7s
(C) 25-2p ° (D) 2p-2p

Bleaching powder on reacting with dal.
sulphuric acid releases .

{A) H, pas (B) O, gas

(C) Cl, gas (D) CO, gas

Mutrino has

{A) Charge +1, Mass |
(B) Charge 0, Mass |
(C) Charge 0, Mass ()
{D) Charge -1, Mass |

When a metal atom hecomes an ion :

{A) it loses electrons and is
oxidised

(B} it gains electrons and is
reduced

{C) 1t gains electrons and 15
oxidised

(D) it loses electrons and 1s

reduced

Chemical reactions involve participation
of

(A) E]ecﬂ‘nn:ﬁ. {B) Protons

(C) Meutrons (D) Mesons
Strongest bond is

(A) ls—1Is (B) 25-2s
(Cy 2s-2p Dy 2p-=2p

Group-A

#= F1 % A0 58 / Space For Rough Work
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HUE-|
SECTION-II
T
MATHEMATICS
51. Eﬁiﬂﬂﬁiﬂ@ﬁm ? 24 ufgdierFr g @ 51. The expenditure of barricading of a
AEATH RIEET T 5,280 2 | @A circular field is ¥ 5,280 at the rate of
w T T 24 per metre. The expenditure on
T 1.0 5 i . H A hl ploughing of this ficld at the rate of
= T 1.0 per square metre will be
(&) ¥1925  [(B) ¥3850] (A) 71925 (B) T 3.850
(5] Ly, 5By T4aad (C) 74,025 (D) 24125
52, fr=mm 4 ot 9@t w= Eil * =g =1 52. If the sector of arcle of radius 4 cm
I 30° R, T SR B made an n..ngle of 30° then the arca of
(A) 46182 (B) 40.] T ’{":}3‘;‘-:“1* e’ N
Y 4,10 TH1 D) 41.9#d S RN
(©) 4. i (D) (C) 4.19 em- (D) 41,9 cm-
1 + tan A | + tan?A |
ookl " . Teveda Do
(A) sectA (B) -l (A) sectA (B) -1
{C) l..‘t"ltj.'ﬂ'n (D) tanA (C) cote A (D) tan- A
54. Y% TH ﬁ% P AU 10 F= wee 54. The angle of alutude of a 10 m high
w1 I I 307 B | waA F e @ house from the point [ on the ground is
HEAT 307, A flag is hoisted at the top of the
T = T & 3 ﬁEP 3 house, The angle of altitude of top of
ok Ia'] a1 I FE 457 7 flag from point P is 45°. The length of
g i e g - (3 = 1.732) the pule of flag is - {\ﬁ =1.732)
(A) 5.327. (B) 6.327. (A) 5.32m (B) 6.32m
() 7.327. (D) 7.5274. (C) 7.32m (D) 7.52m
55. ﬁﬁﬁ{}ﬁ T g4 W TS & TS 55. A tangent of length 24 cm is drawn on
24 Bt qun Q A F & :.ﬁ 25 wft | a circle from a point Q. The distance of
A e point ¢ from centre is 25 cm. The
™ X E radius of circle 15
(B) 127%sh (A) Tem (B) 12 cm
(€) 15%f (D) 20%H (C) 15 cm (D) 20 cm
Group-A 7ot %7 % Fo1¢ 978 / Space For Rough Work
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S6.

7.

58,

AT 7 Tt I U BATERR w6 @ ST
U FETen T g 2, IEMe =
Fiftyrag =ma g

(B) 3.5%H
(C)y 4.554 (D) 6.5 T
fr=m 4.2 o0 99 U F T T R
fererere = 6 &t 919 U w5 E
o et ST & 1 #e w1 Serd gt

(Ay 2.7 @ (B) 2.77 @

2.8 Hdi

ue TEe i A 10 F 30 frenffat gm
T % T Y H, 100 5 ° yH R
3w ey mrooft i fedt my & | g fyenfil
T WTH 371 T AT 2 ;
i | fyefif < G
1)

(Cy 2.74 At (D)

20

3t
40

1
j

30

56

6l

70

=
72

80

84

(1o [ [ e e 10 s o | | = | —

1
|
|

L2

U3

1
—

59.6
60.6

[tA) 59.3 (B)

(Cr 60.3 (D)

56.

~T 8

58,

A hemisphere is fitted upon the cubical
block of side 7 cm. The maximum
diameter of the hemisphere would be

(A) 7 em (B) 3.5em
(C)y 4.5 em (D) 6.5 cm

A cylinder of radius 6 cm is made by
melting a metal sphere of radius 4.2
cm. The height of the cylinder will be

(A) 2.7 cm {B) 2.77 cm
(C) 2.74 cm (D} 2.8 ¢m
The marks obtained ow of 100

(maximum marks) by the 30 students
of class X of a school 15 given in the
tollowing table. The mean of the marks
obtained by these students is

Marks Mo. of students
obtained

10

20

36

40

50

56

(0

70

72

BO

Bt = == R | s [ Eod |k | | R [

38

92

el

95 |

(A) 59.3 (B) 59.6
(C) 60,3 (D} 60.6
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59,

6.

ol.

62.

TH FEMER T 1,700 % 8 AT Hi g H
AR FA R T 2850 F (2 A= R A
fsra #am 8 1 T 2.250 =1 @y SR

w5 39S g feera Rl T8 et
den gt

(A) 100 (B} 110

(C) 105 (D) 90

mAR IR A s wE e E | W

fte & = e Feel T 8, 399 o
A wifiera &
3

(A) % i{E} 3

] 5
() 3 (D) 3
o 95 T 300 § wigw 20% F W
famdt 2 | g Fsrr e 2
(A) 240 (B) T 252
() 2360 (D) B = Tl

2 el T 2,600 v F = & @ et
£ | ol A v W 4% i g1 o w E
TN B, Faleh gl Al 1 oA fawa
o4 2 2,652 # | gt 9w = faee wl

yitmm sy ey ufieA W T R
(A) B 8% (B} EIH 6%
(C) &9 8% (D) &M 6%

60.

ol.

A shopkeeper bought locks at the rate
of 8 locks for § 1.700 and sold them at
the rate of 12 locks for ¥ 2.850. The
number of locks he should sell to earn a
net profit of T 2,250.
(A} 100

(Cy 105

(B) 110
(D} 90

There are 3 red and 5 black balls in a
bag. Onc ball is drawn from the bag,
The probability of being red 15

(A) (B)

£ | s

= ol LI T Y (Y

(D)

o =

('

An article is bought for T 300 and sold
at a loss of 20%. lts selling price is

(A) 7240 (B} 252

(C) T 360 {D) None of these

Two articles are bought for ¥ 2,600
cach. One of them is sold at a loss of
4% and the average selling price of
both the articles is T 2,652, The other
article is sold at a profit percent or loss
percent of

(A) loss 8%
(C) profit 8%

(B) loss 6%
(D} profit 6%

Group-A
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63, Us g&MER TH 9 & I W qfza 63. A shopkeeper sells an article at its
(Fr=e) qew 2 7,500 W 12% F @ & marked price ¥ 7500 and charges
o =1 T d=e 2 ) Al THHER sales-tax at the rate of 12% from the
T i fasht 9T ¥ 180 =1 A2 W (3) customer. I the shopkeeper pays a
w0 B, dl 39 99 R FY =@ g VAT of ¥ 180 on selling of an article,

hen the price inclusive of tax paid by
TN 7 L Al g 2 : r P
the shopkeeper is
(A} T6,720 (B) ¥6,520
(A) T6.720 (B) 6520
i) Rk By R0 (C} 76,000 (D) T 7,000

64. T T T HiEd 59 T 900 B i 97 gt 64. The list price (marked price) of an
FHAW FUA 20% w9 10% & W article is ¥ 900 and is available at two
0 B, A w1 g successive discounts of 209 and 10%,

? g A g The selling price of the article would
(A) T630 (B) T730 be
¥ . (A) T 630 (B) T 730
(G} X648 (D) FHIBR (C) T 648 (D) None of these

63, U =Afh T 800 W 5% EULETEE T | 65. A person owned T 800 from the bank
HF R AR Y 2l uEm g for 2 years at a rate of compound
£ ARt n e e e e B R e— interest 3% per annum. The amount he

-.1:‘:‘auu¢-:nm-|l.r.- would ey to bank would be

1= SRR NG ]
(A) T EB20 (B) T BE0OOQ |y (A) T 8820 (B) T 8800
(€) Y8810 (D) 8815 (C) TBEID (D) 2T 8815

66, UH FEW F1 A s wei 66.  An owner of the factory estimates that
B Yew 15% I T o I9% 9§ & his machine depreciates by 15% of its
Sr——. 71 fr e B2 value at the beginning of the vear and it

i Iﬁﬁ i 21k » depreciates by ¥ 5355 during the
LSRRG &I 1T B T 5,355 second year. The original value (cost)
'lﬁ, al gei =1 gt ooy # of the machine is
(A) T40,000 [(B) %42,000 (A) T 40,000 (B) T 42,000
(C) T 44,000 (D) 745,000 {Cy T 44,000 (D) T 45.000
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67. 1M = A 3% g2t | g9 = 8 A

36+ T 61 TEEE F UH 1A A
A g
o | | Pt | smafn | 9w
e | )
9o | B/F 1,500.00
1,98 )
EGERRCED 1200.00 {2.700.00
8, 98
e | s BOD.00 | 3500.00
23, 98
N o | = | 1.600.00 1900.00
17, 98
T | s U000 | 2500.00
27, 98 |
g% gAun fi| W AR e, 98 § =
ficm &
(A} F3.500 (B) < 1,900
[(C) T2700] (D) FHAFEFE

68, Higa w=dt v we | € 80 ¥ AIE O
61 7% w w2 | gl @ w fiee
G = # @ 6% =ides B, Of 35
afiaera ot fier= aren 9= 2
(A} 76,811.20] (B) 76,820.20
(C) ¥6,822.20 (D) %6,800.20

69. ¥ 100 (Affme deq) * S Fawam wa

T 120 (ke de9) T T 67,200 1 &=
for = ® | AT TR W 12% % A
(fesfize) i gron 1 =t 2, ot TRH
ﬁﬁlﬂﬁ'ﬁ:

(A} TR.064 | (B) T&.032
(C) T 7.004 (D) ¥6.720

67. Ram has a saving bank account with
Bank of Baroda. A part of the page of
tus pass book is shown below

Date (ParticularsAmount/AmountBalance
'- With- | Depo- | (@)
drawn [sited (T)
() :
July 1.IB/F 11,300.00
98
Julv 8, |By Cheque 1 200,00 {2, 700K}
98
July |By Cash 800,00 |3,500.00
2398
August{To Chegue {1.600.00 1.9040.00
17, 08
August|By Cash 600,00 |2,500.00
|27, 98

The amount on which he will earn
interest in the month of July, 98 is
{A) T 3.500 (B) T 1.900
(Cy T2.700 iD) MNone of these

68. Mohan deposited ¥ 80 per month in a
cumulative  deposit account  for  six
vears. If the rate of interest is 6% per
annum. then the amount payable to him
on maturity would be
{A) T6.5811.20 (B) T 6,820.20
(C} T 6,822.20 (D) T 6,800.20

69. F67.200arc invested in ¥ 100 (nominal
value) shares which are quoted at ¥ 120
{market wvalue). If 12%: dividend is
declared on the shares, then  the
income would be

(A) T R.064
(C) ¥ 7.064

(B) T 8,032
(D) 26,720
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Tih.

71.

12.

73,

4.

u fgem g 3 Teeh Sl 1 A
YT U e - 3 32 &
(A) ¥+3x+2]| (BY x-3x+2

(C) »+2v-3 (I gTid=sl

v AR g, frad o, drd
# 4 iz wifas & F1 i 36 dien
2 | = & w2

(A) 20 ﬁ | (B) . 16Hl.
(Cy 104, (D) 15,
T 196 T 38220 H.CF. 2
(A) 196 {(B) 200
(Cy 296 (D) 300

U WE A 616 dgE aefl TR d@
THE I 32 HEEi 9T U A @vg &
e w1 T B | S HET 6 e
gt @t o ure F R | 3 w6
At g, f38 3 9 F a6

(A) 6 {B) 12
(Cy 10 (D) 8§

Hifa 18 fime 3 o 12 five v @=
o fgr % frant &7 gedla gy %1 oE e
i = W w8 | At A g U e
# wh # uvn wouE @ fam § A
e 4 B, @ fEAE oo A 3
wrfois i e 7
(A) 60 fime (B)

WCy 36 Tz | (D)

30 fiye
24 e

T0.

71.

12

74.

.Sonia takes 18

The addition and multiphication of zeroes
of a quadratic polynomials are - 3 and 2.
The equation of quadratic polynomial is
(A) ¥ +3r+2  (B) ©¥-3x+2

{C) 2+2x-13 (D) None of these

The length of a rectangular garden is
4 m larger than the width and its half
permeter is 36 m. The length of garden 1s
({A) 20m (B) 16m
(C) 10m (DY I5m

The H.C.F. of numbers 196 and 38220 is
(A) 196 (B) 200
(C) 296 (D) 300

A command of 616 soldiers has to
march behind the army band contaming
32 members in a parade. Band's
members and soldiers have to march in
the columns containing equal members.
The maximum number of columns in
which they can march 15

(A) & (B) 12
(C) 10 D) 8

minutes and Ravi
12 minutes in completing the round of
a cireular path of a plavground. It they
start running from a particular point to
a particular direction at the same time
then atter how much time they will
miet each other at the starting point ?

(A} 60 minutes (B) 30 minutes
(C) 36 minutes (D)} 24 minutes

'Erul.;p—.-t
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75,

¥

fedt m wfta gl = W FE W aow
Wi WTH &
5 1
x—l+y—1=2
& 3
x—1 y=2 J
{A) x=35 By x=13
(C) x=4 (D} x=2
76. Ffe 2% - 3¢ + 6y - 2 F 2 IF FHW:
277 2 &, it i 3 g B
1. :
(A} 7991 (B) 1@2
h i
(€) \2wd2 (D) -5mE2
| e 76 fTeea A S fTE | 2
R T R T A W y
o1 HIF WIH B
ey =0
\3x-+f8y=0
(A) ¥=0T y=0
(B) x=1Tdy=

T8.

(€) x=+2w y=13
(D) x=+31 y=12

T AU T < 9 I 9:7 3l
I wEl & HIE 4:3 B | e Tow
=afer wfe WA T 2,000 %=1 & &, A
™+t mife W R
(A) 79,000
(Cy ¥27,000

|(B) 18,000 |
(D) T & e

75.

T6.

Tihs

78.

On solving the following couple of
equation, we get the value of x is

5 I
=1 ty=2"
ff o Wy
x=1 y-2
(A) x=5 (B) x=13
(C) x=4 (D) x=

If two zeroes of 2¢* — 32 + 6x - 2 are

'\E and —ﬁ respectively, then the
halance zeroes are

(A) Tand 1 (B) 1 and?2
(C)y 2 and 2 (D) —l.,mld 2
On  solving the following linear

equations, we will get the value of
vand y

V2x+4f3y =0
x-fBy=0
(A) x=0and y=0
B) x=1and y=1

(C) x=+2and y =43
(D) x=+[3and y=1[2

The ratio of income and expenditure of
Ram and Shyam are 9 : 7 and 4 : 3
respectively. If each person is saving
T 2.000 every month, then the monthly
income of Ram is
{A) T 9000

(C) T27.000

(B) T 18.000
(D) None of these
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79.

8l

uF Hul & fnfial = ofrat 8 @
¥ B | afg 9 o 3 faemeff arfies @2
1 At u dfs w0 2R aik af dfe 3
fameff =7 2R @t @ ol s
aet | e i e 6 den @

(A) 36 (B) 26

(C) 16

o | 10 = ° umn % wfgs 30 Fedt
Ul O % g 44 Rt ot @
13 92 1§ 57 40 feft oo & vfagm @
55 it uw % FEe Wt & | 9| f
R ot o v 2

(D) 46

(A) 3fEfiamr By 8 el

(C) 5Tdfiger | (D) wHA®E T

R w32 - Jox + 2 =0 e §

. 1
® w5

Y 2
© \FEf;

(D) = o i 7

79.

81.

Students of a class are standing in row.
If number of students in a row 1s
incrensed by 3 then the number of row
is decreased by 1 and if number of
students in row is decreased by 3 the
number of row is increased by 2. The
number of students in the class are

(A) 36 (B) 26

(C) 16 (D) 46

A boat covered 30 km in the opposite
direction and 44 km in the direction of
stream in 10 hour, andd in 13 hour it
travelled 40 km  in  the opposite
direction and 55 km in the direction of
stream. The speed of boat in the
constant water is

(A) 3 km'h
(B) 8 km'h
(C) 5km'
(D} None of these

The roots of quadratic equation
11.3—3'\,"'5.1:1-1=D:1m

2 2
(B) 3 and ‘\/;
| 2 2
() \[E and -’\/%

(D} MNone of these
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K2,

83

84.

PG 21,18, 15, ... BB TG 8| & ?
Ay 27 (B)y 20

(C) 33

T 1000 Y7 qorish 1 &M 2

(A} 500000 (B} 500050
[{C) 500500 (D) 505000
TS UH HAT U W Ee & feh
e suf e U 3 . w9 B | T
tAwe veet | fffe sofgar fogmen

ok T AT AR O 6
e & arat aon d=rd 120, 2, @ 4
1 et i =1 | 39 SRR O 6
s gl

 wfare Frga
- 12t

A MR

|(m 741, (B} 44,
(Cy -1 (D) 6

Teama wadiem 27 —4v + 3 =0 F A
F sl d

(A) & firs v It qm

(B) & ST S g6t
(C) et 4ol 81 8 |

(D) ¥ =l

B ! aeh R vl 3 A R 7
(A) 20 [(B) 30]

(C) 31 (D) 28

82.

83

84.

85,

36.

Which term of series 21, 1§, 15, .....
is— 81 7
[(A) 27
(C) 33

(B) 29
(D} 33

The total of first 1000 positive whole
number is

(A SO0
(Cy 500300

(B} 500050

(LX) S05(HH)

A rectangular park is to be constructed
whose width -is less by 3 m from its
length. It"s area is 4 sg. m. more than
the isosceles triangular park already
constructed whose base 15 equal to the
width of the rectangular park and
height is 12 m. The length of this
rectangular park will be

[soscele Triangle

12 m

— Hectanzle

(AY Tm (B} 4m
(C) -1m (D) 6m

The nature of roots of quadratic
equation 22 =4y + 3 =0 is

(A)Y Two ditferent and real roots

(B) Two equal real roots

{C) Non-real roots

{D) Unknown

How many numbers of two digits are
divisible by 3 7
(A) 20
(Cy 31

{B) 30
(D) 28
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87. UF g fER 39 v B R oo $7. A ladder is rested along the wall in

Feen Rea e 2.5 0 g o Pl R
- i LY

ol ﬁim ‘iﬁ & 6 . 1 T W rested on the window at a height of 6 m
flashl aw waa § | gt TS & from the ground. The length of ladder
(A} T7.04h (B} 7.54. is
(€) 6.0 (D) 6.5 ] *E 5 E[E;; P

88. Al de @ R i 24 A 6[]'.] a. 88. A T.V. set manufacturer, manufactured
@ 7H = 4 700 Al # w3 600 T.V. in the 3" year and 700 T.V. in
wa ¢ | 9% g ge TR owels @d | the 7" year. Assuming that the increase
UHEHA &Y 3 % (i gen d e A in production every year ils equal and
aﬁi BT 187 ﬂﬁﬂﬂaﬁ o definite. The total production in the 7

3 years was

(A) 4375 (B) 4275 (A) 4375 (B} 4275
(D) 3975 (C) 4075 (D) 3975

80. fdm P ABCH, g P, W AB F g9 [l ABC, P is midpoint of AB
s QY@ AC W fag R 1 AR and ©Q is midpoint of AC. If AB = 9.6
AB=06%f, BC= 113 wd AC =112 em, BC = 11 ¢m and AC = 11.2 em,
ﬁﬂt ﬁ% PRCQ EH‘T&HW!}’H The pﬁl‘il’l‘lﬂ;ﬂ of trapezium PBCQ is —

A
p 0 P Q
C
i B
269 B) 30.8

[(A) 26.98d] (B) 30.8%d (2203 cm {Fp. syl
(€)y 22.2 T (D) 26.4 Bt (C) 22.2cm (D) 26.4 cm

90. 80 it =) TS el U Agehl awd ol 0. A girl of height 80 cm is going away

wF WY F IR AR 1.3 f8 F 9|
A== R | A aew v & 4.0 6. 6
Fard 91 &, At 4 U%s 9E 39 A H

from the base of a pole at a speed of

"1.3 m/s. A bulb is fitted in pole at the

height of 4.0 m from the base. The size
(length) of the image of the girls will

mﬁmﬂﬁ*ﬁ i he after 4 seconds :

(A) 1.6 (B) 1.3%.] (A) 1.6m (B) Lgm

(Cy 1.0 (D) 0.90 4. (C) 1.0m (D) 0.90m
Group-A o wH félliﬁﬂmf Space For Rough Work 21
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a].

02.

93.

94,

famg foe Pwms (1L 5). (2. ) @
(-2, ~ 1) &%

(A) TEE |

(B) BrmH i E ||

(C) wnfgarg Frge = 3fid &

(D) wwehim Faygw & vid & |

U EAT WEA UH §AE Ay H I A
3 1000 Fefian S am 4 Tzar @

T TR UF A gA AEE I EAE
2 @ 9ffaw f 3 1200 fefaa
e § IEa # %ﬁimﬂﬁ‘ﬁﬁi
il 3 ot 1 g 2t

(A) 300 fardt

(B) 3300 fereft

(C) 200n/61 femeft

(D) aﬂwﬁf&aﬂr‘

= we foeht Samat 6 . 3l 11 o #
aar A waae fft w2 ¥ ) Al w
freret fid % o 1 gt 12 die 2, &

T St fidl 3 ofre <1 2h Bt
(A) 117 [(B) 137+
(c) 157 (D) ¥ & =

formgal foreh facanias (2, 3) Wi (4, 1) B
HdaHzhe

(A) 43 (B) 52
(€) 2 (D) %0 G = T8

91.

93.

94,

The points of co-ordinates (1, 5). (2, 3)
and (-2, -11) are

{A) co-linear
(B) ends of a triangle
(C) ends of 1sosceles triangle

(D) ends of right angled triangle

An aeroplane fly from an airport in the
north direction with speed of 1000 knvhr,
At the same time another aeroplane fy
trom same airport in the west direction

with speed of 1200 km'r. After

| ;
|5 hours the distance between the both

acroplane is
(A) 300 km
(B) 3300 km

(C) zﬂu\fﬁ km

() 30061 km

Two poles of height 6 m and 11 m are
erected on the plane ground. The
distance between the bottom part of
these poles is 12 m. The distance
between the top of these poles will be

(A 1lm (BY 13m
(C) 15m (D) None of these

The distance between the points of
co-ordinates (2, 3) and (4, 1)1s

(A) 43 (B) /52
(Cy l‘-ﬁ (D) None of these

Lroup-A

Elﬁ_uﬁ[@f < feTu @78 / Space For Rough Work




Answers marked in Boxes are Right Answers (Eﬁ'?{:l' # far = 3ca) W %)

ILE.R.T.- 2017 & fAT 28-3rder & er & yReT, AF AT 900/- FIX
SHAKTI COACHING INSTITUTE, Allahabad (U.P.) 9335154592, 9415649800

95, cosce 45° I HA B 95. The value of cosec 45% is.
(A) A2 (B) 2 (A} 2 (B) 2
(©) A3 (D) 1 (©) 3 (D) 1
96. sin 60°, cos 30° + sin 307 cos 607 <7 96, The value of sin 60°.cos 30° + sin 30°
e 2 . cos 60° is '
(A) 3 (A) A3 (B) 1
|
(©) 3 (D) 2 (©) > (D) 2
o tan 63° |
97, i%mqﬁ% 97. The value l}fm 15
| |
- A) ~J3 BY =
(A) 3 ® 5 (A) 3 ®) 73
o 1] (D) 2 (€) 1 (D) \2
o8. famgail (4, - 3) 3 (8. 5) & FeA AR 98. The co-ordinates of point  which
YamETE F AFERE ET R 3 | %"WH divides the line segment which
P - ' connecting points (4, =3) and (8, 5)
" Wﬁaﬁﬁ?ﬁzi_] g internally in 3 : | ratio 15
{A)Y (3,7 By (7,3)
g (A) (3. 7) (B) (7,3)
(€1 6:0) O TR (C) (6, 1) (D) None of these
99, fym fams oiet & fEmss (1, -1, 99. The area of triangle having vertices
(-4, 6) 3 (-3, - 5) EF FAHA R (1,-1), (4, 6) and (=3, -5) is
(A) 24 (B) 20 (A) 24 (B) 20
{C)y 16 Dy 12 (C)y 16 (D) 12
100. @w=hivT B ABC &1 =W B IO 2 100. If in right angled triangle ABC, angle B
AT tan A = 1. 3 2 sin A - cos A 1 HH “is right angle & tan A = 1, then the
it i ’ value of 2 sin A. cos A will be
(cy 1 (Dy -1 (C)y 1 (D) =1
Group-A wa %1 & foTe 9E / Space For Rough Work
Note:

All the questions are solved carefully but if there is any error, Shakti Coaching Institute will not be
responsible for the same




